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http://www.topendsports.com/videos/tag/wingate »

» Power Output (kpmemin-1) = [ revs x
resistance (kg) x dist (m) x 60 (sec) ]/ time
(sec)

» Watts= kpmemin-1/6.123

» Watts/kg = Watts /| body weight (kg)

» Fatigue Index = [ (Peak Power Output - Min

. Power Output) /| Peak Power Output ] x 100
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» Clucose+ 2ADP+2Pi+2NAD —2[ pyruvat+ ATP+NADH+ H]

» Clucose+ 2ADP+2Pi+2NAD —s2[lactate+ ATP+ NAD]
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(b) Lactic acid fermentation
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Figure J-13: Electron Transport Chain
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The electron transport chain is a series of protein com-
plexes located at the inner membrane of the mitochondria.
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PGC-1 serves a central integrative role in the transcriptional regulatory cascade upstream of the
mitochondrial biogenic response
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Kelly D P, Scarpulla R C Genes Dev. 2004;18:357-368
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